

City of Gahanna Streets Division Attn: Accounts Payable 200 South Hamilton Rd Gahanna, OH 43230

# SERVICE PROPOSAL

AGREEMENT#

7002

DATE

5/24/2010

		5/24/2010	7092
	TERMS	LOCATION	
	Net 30	2011 Maintenance	
DESCRIPTION	OCCURRENCES	RATE	TOTAL
PO#900898			
2011 PRICES			
WEST GATEWAY			
Regular Weekly Mowing Service	18	165.28	2,975.04
Mowing Additional Area - 220, 000 sq ft of turf to be mowed every 4 weeks during growing season.	10	262.65	2,626.50
Lawn Care Applications	3	216.30	648.90
Walk Edging	3	154.50	463.50
Landscape Tree and Shrub Fertilization: Deep root injection is used to provide nutrient storage for winter dormancy, spring flowering and overall plant health.	1	309.00	309.00
Snapshot Application	1	412.00	412.00
Spring Clean Up: Includes clean up, edging of all beds, and fluffing of existing mulch.	1	4,377.50	4,377.50
TO APPROVE THIS PROPOSAL, PLEASE SIGN AND RETURN BY MAIL OR FAX (866) 357-1232.	DATE BELOW.	TOTAL	

AMERISCAPE, INC.

SIGNATURE & DATE

- 1

EXHIBIT A



City of Gahanna Streets Division Attn: Accounts Payable 200 South Hamilton Rd Gahanna, OH 43230

# **SERVICE PROPOSAL**

A CDIFFE MENTE #

		DATE	AGREEMENT #
		5/24/2010	7092
	TERMS	LOCATION	
	Net 30	2011 Maintenance	
DESCRIPTION	OCCURRENCES	RATE	TOTAL
Weeding and Edging to beds and hard surface areas.	3	257.50	772.50
Fall Clean Up / Leaf Removal	2	463.50	927.00
************			
NORTH GATEWAY Regular Weekly Mowing Service	18	149.35	2,688.30
Mowing Additional Area - 84,000 sq ft of turf to be cut weekly. Includes Foxboro pool area and areas at intersection of RT 62 and Hamilton Rd.	18	103.00	1,854.00
Lawn Care Applications	3	133.90	401.70
Walk Edging	3	103.00	309.00
Landscape Tree and Shrub Fertilization: Deep root injection is used to provide nutrient storage for winter dormancy, spring flowering and overall plant health.	1	200.85	200.85
TO APPROVE THIS PROPOSAL, PLEASE SIGN AND RETURN BY MAIL OR FAX (866) 357-1232.	DATE BELOW.	TOTAL	

AMERISCAPE, INC.

SIGNATURE & DATE



City of Gahanna Streets Division Attn: Accounts Payable 200 South Hamilton Rd Gahanna, OH 43230

# **SERVICE PROPOSAL**

AGREEMENT#

7092

DATE

5/24/2010

	1	37.247.2010	1092
	TERMS	LOCATION 2011 Maintenance	
	Net 30		
DESCRIPTION	OCCURRENCES	RATE	TOTAL
Snapshot Application	1	154.50	154.50
Spring Clean Up: Includes clean up, edging of all beds, and fluffing of existing mulch.	1	973.35	973.35
Weeding and Edging to beds and hard surface areas.	3	154.50	463.50
Fall Clean Up / Leaf Removal	2	103.00	206.00
Additional - Trim area on both sides of Hamilton just south of Vista Dr. Includes monthly trimming of hill area down to rock areas.	0	123.60	0.00
************			
SOUTH GATEWAY Regular Weekly Mowing Service	18	164.80	2,966.40
Mowing Additional Areas - 343,000 sq ft of turf to be mowed every 4 weeks during growing season.	10	411.00	4,110.00
TO APPROVE THIS PROPOSAL, PLEASE SIGN AND RETURN BY MAIL OR FAX (866) 357-1232.	DATE BELOW.	TOTAL	

AMERISCAPE, INC.

SIGNATURE & DATE



City of Gahanna Streets Division Attn: Accounts Payable 200 South Hamilton Rd Gahanna, OH 43230

## **SERVICE PROPOSAL**

DATE

AGREEMENT#

	<del>'</del>		
		5/24/2010	7092
	TERMS	LOCA	ГІОИ
	Net 30	2011 Maii	ntenance
DESCRIPTION	OCCURRENCES	RATE	TOTAL
Lawn Care Applications	3	226.60	679.80
Landscape Tree and Shrub Fertilization: Deep root injection is used to provide nutrient storage for winter dormancy, spring flowering and overall plant health.	1	257.50	257.50
Spring Clean Up: Includes clean up, edging of all beds, and fluffing of existing mulch.	1.	2,523.50	2,523.50
Weeding and Edging to beds and hard surface areas.	3	103.00	309.00
Fall Clean Up / Leaf Removal	2	360.50	721.00
************			
EAST GATEWAY - Additional Areas - Includes weekly maintenance of middle island from Hoggy's entrance to circle. NO SERVICES TO BE DONE IN 2011	0	38.625	0.00
***********		1	
TO APPROVE THIS PROPOSAL, PLEASE SIGN AND RETURN BY MAIL OR FAX (866) 357-1232.	DATE BELOW.	TOTAL	

AMERISCAPE, INC.

SIGNATURE & DATE



City of Gahanna Streets Division Attn: Accounts Payable 200 South Hamilton Rd Gahanna, OH 43230

## **SERVICE PROPOSAL**

AGREEMENT#

DATE

		5/24/2010	7092
	TERMS	LOCATION	
	Net 30	2011 Maintenance	
DESCRIPTION	OCCURRENCES	RATE	TOTAL
HIGH STREET Spring Clean Up: Includes clean up, edging of all beds, and fluffing of existing mulch. Includes beds from sidewalk to street.  Bi-weekly bed maintenance and hard surface weed control.	6	772.50 123.60	772.50 741.60
Season long maintenance of lot next to Chamber of Commerce, services includes weekly mowing, bed weeding, fluffing of existing mulch, bed edging, shrub pruning, and lawn applications.	1	648.50	648.50
**************************************	1	2,060.00	2,060.00
TO APPROVE THIS PROPOSAL, PLEASE SIGN AND RETURN BY MAIL OR FAX (866) 357-1232.	DATE BELOW.	TOTAL	

AMERISCAPE, INC.

SIGNATURE & DATE



City of Gahanna Streets Division Attn: Accounts Payable 200 South Hamilton Rd Gahanna, OH 43230

## **SERVICE PROPOSAL**

Gahanna, OH 43230	: 	DATE	AGREEMENT #
		5/24/2010	7092
	TERMS	LOC	ATION
	Net 30	2011 Maintenance	
DESCRIPTION	OCCURRENCES	RATE	TOTAL
************			
Note - All areas were reviewed with Russ. Maps of all areas are attached with area descriptions of additional areas. Fall clean ups are for original contracted areas only. All island areas will have grass clippings caught weekly.			
TO APPROVE THIS PROPOSAL, PLEASE SIGN AND RETURN BY MAIL OR FAX (866) 357-1232.	DATE BELOW.	TOTAL	\$36,552.94

AMERISCAPE, INC.

SIGNATURE & DATE